
Adding and Subtracting Decimals
Can you complete the calculations?1 Circle the numbers that add 

together to make a total of 0.12

Fill in the missing numbers.

a.	 2 + 0.05 + 0.4 = �

b.	 0.6 + 0.04 + 50 = �

c.	 30 + 0.08 + 2 = �

d.	 0.7 + 40 + 900 = �

0.02       0.11       0.1       0.2

a.	 2.73 - 0.7 = �

b.	 22.15 - 0.05 = �

c.	 18.6 - 8 = �

d.	 88.88 - 80 = �

e.	 93.21 = 40 + �

f.	 0.2 + 4.57 = �

g.	 57.75 - 0.5 = �

h.	 7.12 = 6 +                                    + 0.02

i.	 3 + 1.76 + 0.02 = �

I have 5.2kg of flour. If I use 3kg, 
how much will be left?

I will use 0.26 litres of milk for one 
recipe and 0.42 litres of milk for 
another. How much milk will I use 
altogether?

Ishmael is an adult and is 1.72 
metres tall. Baby Alice is only 0.66 
metres tall. How much taller is 
Ishmael than Alice?

2 4

3
5

 �

6

 �

 �

Mona walked 2.1km to the shop and 
then walked a further 0.7km to get 
to her aunt’s house. How far did 
Mona walk altogether? 

7

 �
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Adding and Subtracting Decimals Answers
1

a.	 2 + 0.05 + 0.4 = 2.45

b.	 0.6 + 0.04 + 50 = 50.64

c.	 30 + 0.08 + 2 = 32.08

d.	 0.7 + 40 + 900 = 940.7

I have 5.2kg of flour. If I use 3kg, 
how much will be left?

I will use 0.26 litres of milk for one 
recipe and 0.42 litres of milk for 
another. How much milk will I use 
altogether?

Ishmael is an adult and is 1.72 
metres tall. Baby Alice is only 0.66 
metres tall. How much taller is 
Ishmael than Alice?

2 4

5

0.68 litres

6

1.06 metres

2.2kg

Mona walked 2.1km to the shop and 
then walked a further 0.7km to get 
to her aunt’s house. How far did 
Mona walk altogether? 

7

2.8km

Fill in the missing numbers.

0.02       0.11       0.1       0.2

a.	 2.73 - 0.7 = 2.03

b.	 22.15 - 0.05 = 22.1

c.	 18.6 - 8 = 10.6

d.	 88.88 - 80 = 8.88

e.	 93.21 = 40 + 53.21

f.	 0.2 + 4.57 = 4.77

g.	 57.75 - 0.5 = 57.25

h.	 7.12 = 6 + 1.1 + 0.02

i.	 3 + 1.76 + 0.02 = 4.78

3

Can you complete the calculations? Circle the numbers that add 
together to make a total of 0.12

visit twinkl.com

https://www.twinkl.co.uk/resources/ready-to-progress-maths-catch-up-resources-key-stage-1/year-5-ready-to-progress-maths-catch-up-resources-key-stage-1-year-1-year-2/5npv-2-recognise-the-place-value-of-each-digit-in-numbers-with-up-to-2-decimal-places-and-compose-and-decompose-numbers-with-up-to-2-decimal-places-using-standard-and-nonstandard-partitioning-year-5-ready-to-progress-maths-catch-up-resources-key-stage-1

